Diagrama 1 - Pala

\,Diag. 4 (barra)

65cm

T
g ¢
%8 i
QO — g
S o :
Lo T
= 8
=, 1S
g 2% m = || tredea
ke ) &0 (] c
5 Se o © G
.ma £5 M % © ->
w.aum ‘ [t - >
s g 83 3 L9 §| g8 -
aMu. OC — [ m =35 n@v
458 » > | 8% a
E— T 2 8
S mw a B 8 J
wu o o £ S
8 8o = °s &
g &
M.m 8 m = ¢ Beig ++ 3
o= 14cm s g
8% -
[a)=) a 17cm
&
B Abertura da cava B
e |
St 7o
H |
L S
| | !
ommmmmooos o
H 1 1 1
o-======= | H 1 |
Pl o
STV r o
L O 2 A A G
1 1
S b0
4 (=2
o

Manga direita
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Diagrama 4 - Bico de acabamento
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Diagrama 2 - Ponto fantasia (A)
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D|agrama3 Ponto fantasia (B)
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